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R1=56 KΩ
R2 = 2.2 KΩ
R3 = 47 KΩ
R4 = 470Ω
R5 =5.6 KΩ
R6 = 680 Ω
R7 =10 KΩ
R8 = 270 Ω
Tr1=Tr2=AC126
C1=C2=C3=0.1µF
C4=C5=100µF
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R1 = 56 K Ω
R2 = 5.6 KΩ
R3 = 470 Ω
C1 = 0.1µF
C = 100µF
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R1 = 500 KΩ
R2 = 6.8 KΩ
R3 = 2.2 KΩ
R4 = 270 Ω
R5=R6=R7= 4.7 KΩ
C4=C5=C6= 0.01µF
C1=100µF
C2=0.1µF
C3=10µF
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R1 = R4 = 3.9 K
R2 = R3 = 68 K
C1 = C2 = 1µF
Tr1=Tr2=AC 128
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R1=R4 =100 Ώ
R2=R3=68 K
C1 = C2 =33µF
Tr1=Tr2=AC126
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R1 = 68 K
R2 =500 Ώ
R3 = 1K 
C1 = 100µF
C2 =C3=0.1µF
Tr = AC 128
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R1=R2= 1K
R3=R4= 1K
R5 =R6 =12 K
D1=D2 D3=D4
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R1=R2= 1K
R3 = 10 K
R4 = 3.3 K
Tr1=Tr2=BC337


